Name of the Trade - Electrician 1st sem - NSQF - Module 1 - Safety practice and Hand tools

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level Topic of Week No of
syllabus the Syllabus
1|What is the name of the safety sign? Warning sign Mandatory sign Prohibition sign Information sign |38 G&T eg &I ATH AT 52 g [deg 3MaTH [Reg YYF Keg HIATHS o D 1 Safety sign 1-3
2|What is smothering in extinguishing of fire? Adding the fuel Removing the fuel | Using of waterto |Isolating the fire from |3113eT & /&=t &7 §2 Rt ESC 3117 T S 39T | STl T 3YTT Feh | HAT9T ol ATFTSled | D 1 Fire extinguisher 1-3
element to the fire |element from the fire lower the the supply of oxygen EEiC AT AT9HTe hH hiel @r}rrq’ﬁﬁm
temperature FEAT
3|Which is the physical hazard? Smoking Vibration Corrosive Radio active a1 3 O Al gifer a1 82 TS FFT &RT I3 afhaar B 2 Hazards 1-3
4|{Which is the correct sequence of operation | Pull, Aim, Squeeze, | Pull, Aim, Sweep, Push, Arrange, Push, Arrange,  |T&e=T & & 313eT A8 Y 3T el T TSI v FAT 82|  Wrdle, HARAAT Graet, e | erchele, saafead | eehelel, sqaiead | A 2 Fire extinguisher 1-3
to be performed when using the fire Sweep Squeeze Squeeze, Sweep Sweep, Sequence TITTAT, SelTedT, Sf3TTeAT, Y AT, T, SSlel, YHTAT| T, FHTHT,
extinguisher? HHTAT CEIG HoJhH
5|Which step of the 5s-concept refers Step - 1 Step - 2 Step - 3 Step - 4 55-Tehodell # fele=l A § el AT TX0T Step - 1 Step - 2 Step - 3 Step - 4 D 1 Standardization 1-3
“Standardization”? “Standardization” ¥ 3 ST 82
6|Which plier is used for making wire hooks Flat nose plier Long nose plier Round nose plier | Diagonal cutting plier [Flef & ToTERX &1 39011 AR & g F AR A T A Gl | Folc Al oK | AlleeT oAlel TR | 33 oAl ol | STI9NeTel ahiedl C 2 Hand tools 1-3
and loops? g7 IR
7|What is the use of pincer? Twisting the flexible Cutting small Extracting the pin Holding small AR 7 1 39T &2 FAFATA AR AN | DA H AR | ehgl A QT a1 | S aeq uhsall, | C 2 Hand tools 1-3
wires diameter of wires | nails from the wood | objects, where finger e HLT FIcAT el forarer=r STel qAug
cannot reach Tk
8|What is the name of road safety sign? Mandatory sign Cautionary sign Informatory sign Prohibition sign U Hseh &t Teg T FATAH &2 3aTS eg T g HHeATcHh e v e A 1 Safety sign 1-3
;
3
9|What is the back ground colour of warning Blue White Yellow Green 7 Ao A TddS (e o T2 HIIT T 3T FAT &IcAT 872 e EEGl 9relT & C 1 Safety sign 1-3
signs in the basic category?
10|Which type of fire extinguisher is used for Halon type Foam type Gas cartridge type | Stored pressure type |faGgd 3Ta<0T o3l HT3eT & PieT AT HTTeTRAHE gelled JhR 19T JehIX I FRGATHR | GIRd ca@ IR | A 2 Fire extinguisher 1-3
fire on electrical equipment? gYaT fRT ST 82
11{Which is the waste disposal method that Recycling Composting Incineration Waste compaction |3mafRrse et i sl & &, ST 91T JeT alr &7 FCEER T STelT HEHTRIOT 3frse gt C 2 Disposal of 1-3
produces heat? waste
12|Which Personal Protective Equipment Apron Goggles Ear mask Nose mask U § GI&T & [T [ cATFdaTd GI&T 3THI0T (Tdg) Tt TRAT FI had AT dhad D 2 PPE 1-3

(PPE) is used for the protection from
fumes?

E) T ST £




13|What is the full form of BIS? Board of Indian Bureau of Indian Board of Bureau of BIS & qUI &9 & Board of Indian Bureau of Indian Board of Bureau of Standardization 1-3
Standard Standard International International Standard Standard International International
Standard Standard Standard Standard
14|Which method is used to lift and move Winches Crane and slings | Layers and Rollers Machine moving  |3TRY 3R 301 31X TATATTRA e o [oIT [ohd TG fel ol e et 3R e X AR e A ATl Lifting method 1-3
heavy loads? platforms 39T Rt SITaT £ TACHE
15|What is starving in extinguishing of fire? Adding fuel to the fire | Using water to cool Removing fuel Preventing oxygen |31TeT 3711 3 TTTdeT T 52 Rt ESC 3117 T SUA 39T | STl T SUTTT ek | 3137 T TSI Fire 1-3
the fire element from the fire | supply to the fire EEiC LA ATIATT A HAT | 6T 3T & 3rerT
hIAT
16(What is the name of PPE? Nose mask Head shield Face shield Hand screen NS 7 A7 FATR? AT had T FT had Y FT Fhad &Y Thied PPE 1-3
§
17|Which disposal method of waste save lot of Land fill Recycling Incineration Composting HITRISE foiqeTet T3 diet AT &, I 9g a AT Sl STl | ST H e FeEE HTEHRIOT Qe STelell Disposal of 1-3
energy? g7 waste
18|Which artificial respiration method is to be Schafer's method Mouth to mouth Mouth to nose  [Nelson’s arm-lift back |Tehe JehR shT T3 adiet fafer s g1eT 37 Nfsc & AR fafer Hg 4 Hg A HAB A AT AT | FodsT T T FH First aid 1-3
performed to the victim with injuries on the method method pressure method  |forw &t §, o/ gehT oI 3R de H die g7 L IEY-CICACIN]
chest and belly?
19|Which type of occupational health hazard is |  Electrical hazard Biological hazard | Physiological hazard | Psychological hazard [f&& 9 & caTa@T e TaTEed Wk & HROT THAVT | [AegdId JaHdr Sifaeh aHare RIRF TRT AT JHaT Hazards 1-3
cause for infection? 8 hdT 87
20|What is the use of this tool? Holding the hot Cutting and twisting | Extracting nails from Loosening and  |3& 3SR ot &FaT 39T &2 IH UCTAT Y IhSAT| IRT i ST IR EEEREIC] e AR AT Fr Hand tools 1-3
substances the wires the wood tightening the bolts Higar [GEICG &relr et 3R
and nuts AT
A
<>=>——0o |,
21|How will you diagnose the victim is Gets pain in spinal | Mouth will be closed | Heavy swelling on | Appears blue colour | & gR & R3S cafaa & 379 F TgaTeiar? JehgssiAce d | Hg QU R aG &l | Jc A MU Forel | §Iol & °RI 3R First aid 1-3
suffering under cardiac arrest? guard tightly his stomach around his lips SR Arer 3T
22|What is the name of the tool? Wire stripper Crimping tool Combination pliers |Diagonal cutting pliers|3a 3SR T T =11H &2 IR e ToRTETeT ¢ HIETAAA CATIX | BTN HieaT Hand tools 1-3
RZSIREY
23|What is the name of the safety sign? Warning sign Mandatory sign Prohibition sign Information sign |38 G&T e &I A1H T 52 TG [deg 3MaTH [Keg e Keg HIATHS [dog Safety sign 1-3




24|What will be first-aid to be given to stop the | Applying ointment Keep the injured | Covering the wound | Applying pressure [dIf3d o I&Fd & 8T Sl Udhel & ToIT FAT TTATHS FOlgH TN | Tic o9 GUSIIT T | TIC ofdl g UHTIT T | TIT ofdl § LT T First aid 1-3

bleeding of the victim? portion upward portion by dressing over the injured  |RIfFcaT 3Tersy FTS AT &2 FU IGeAT ST AT SSTd STelAT
portion

25|What immediate action should be taken to  [Pull or push him from Inform your Call someone for | Break the contact by |dfScl &l srel 8 T Alcehlioleh e 3T TIRT, gt EgrT Wi a1 IO Wiy | Tonell a1 39 egierd | TSt ol 3relal First aid 1-3
rescue the victim, if he is still in contact with | the contact by hand | authority about this | helping to remove | switching OFF the  |Ifg ag 3787 #ff fiegd ufed &ia & ¥ # £2 JFRT ¢ faegasicsh & aR | HI G 8 AT | ek Afered 3MYfek
the electrical power supply? electric shock him from contact power supply H STy & I &G PG,

26|What is the name of the cautionary sign? School Guarded Unguarded Pedestrian crossing |38 Txdeh Toeg ol =T &7 §7 ﬁ’q‘m wiaa KRG YeoT hrraaT Safety sign 1-3

/A g

27|Which is the golden hour for the victim First 15 minutes First 30 minutes First 45 minutes First 60 minutes  [afe TS &1 AT & =e ol & 3R @8 & T@T &l, o First 15 minutes | First 30 minutes | First45 minutes | First 60 minutes First aid 1-3
injured on head with risk of dying? 3% fore Tafols ger Hia arg?

28[Which condition of the victim is referred as | Unconscious but can Conscious but Breathing but cannot | Lie totally senseless |[ff3d T sleT &Y AT &t FIAT gl AT 672 TERIGAT R G | FAABAT R | HH oledl R Follad f{ﬂ?ﬂ%’ﬁdddé\lﬂ Hand tools 1-3
COMA stage? respond to calls cannot respond to respond to calls and do not respond TR 3cR &l Tg’FHFTW 3cdl e I 3] o BT oI & U

calls

to calls

el IR SecR o




Name of the Trade - Electrician 1 st sem - NSQF - Module 2 - Basic Workshop Practice (Allied trade)

# Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans Level [ Topic of syllabus | Week No of
the Syllabus
1|What is the use of this gauge? Check the internal | Check the diameter | Check the height Setthejobon  [5& 3tof ol 4T 3T &2 SiTd T 3T 30T | SeIeATehR S &l A Se R Fag AR [SaH AMA A A s | A 2 Gauges 4-7
radius of the job of cylindrical job and parallelism of |machines parallel to Y ST SITdeT HATAAT SITded HHATeAX TG
job datum
!
Rasp cut file Single cut file Double cut file Curved cutfile |38 XY o1 /a7 AT §2 TET e v Tehol ohe T Sl e XT FhIHR e IdT A 1 Fitting tools 4-7
H
H
Divider Inside caliper Odd leg caliper Outside caliper |38 3ISTR ol a7 ATH £2 fZasst TARF FeliR TV ST ol e FolIR B 1 Marking tools 4-7
H
4|What is the cause for twisting defect in Defective storage | Uneven shrinkage [ Improper seasoning Irregularity in IhaT A CIATECIT &Y T FIT HRUT 2 aI9q U1 HUSROT AT st eI TISATIT TETHT A grg A B 2 Carpenter 4-7
timber? growth of branches sifaafEaar
5|What is the use of mortise chisel? General chiseling | Making rectangular |Paring and finishing | Light chiseling  [ATcTS<T St T T 39T g2 T A AT I H IATRR BC | oS! I SIolell Td | oTehs] & Goohl Dallehiol | B 2 Carpenter - 4-7
work in wood holes in wood joints in wood cleaning sharp TelTehoT AT HAT TRferer &ar TUT AT TheART T AT Timber
corners and in wood
6|Which type of stake is used for sharp Square stake Hatchet stake Blow horn stake | Bevel edge square |2fIc Fce & dsl AIST 8 Tohd TR BT FINFR Teh T w&F ol glel T¢h 99 TS JINHR Th B 2 Sheet metal 4-7
bends in sheet metal? stake T&H 3YIT fohaT SATAT B2 worker
7|Which type of cold chisel is used for Web chisel Cross cut chisel Half round chisel Diamond point | TRd TR T S2T Ball Sl ST el ]I STl et I HE el 378 GedTPR Bl ERT dige Sl D 2 Chisels 4-7
squaring materials at the corners? chisel R erdf & FAER FT g T AT
&2
8|Which type of caliper is used to draw Inside caliper Jenny caliper Outside caliper | Spring joint caliper [fF&l JehR & el T FINT TeTd F AR Feld STeiT ShellaX e FHelaX T NS el B 2 Marking tools 4-7
parallel lines along the outer edges of the B AR I FHATAR @0 s 7
materials? glarg?
9|What is the name of the drill bit? Flat drill bit Taper shank bit Countersink bit Straight shank bit |3 3o fore &1 &1 1 £7 Fole T3of foe TR e foT FI3AP 19T T & f9e B 1 Drills 4-7
i
H
10|What is the name of the stake used for Square stake Hatchet stake Blow horn square | Bevel edge square |2l Acel & GTHT 393N 8 fhd TINHR T e s ol glat Teh ST Tl JINPR Teh A 1 Sheet metal 4-7
general purpose in sheet metal work? stake stake R T Tk YT fohdT STAT §72 worker




11|{What is the number 1.25 indicates in ISO Diametric of the Pitch of the thread | Depth of the thread |Length of the thread [3TSTH3 Afgeh Brs= IS M12 X 1.25 S T A Uz & T DEETEIES Uz A oIFaTS Drills 4-7
metric fine thread M12 x 1.25? thread # 1.25 FeX & ST e §2
12|What defect will occur in timber due to Knot Cupping Cracking Twisting TRl H ATAATAT ®9 T ATEI3 Bl T el AT Carpenter - 4-7
irregularity in growth of the branches? 33T oh ST ShisT AT GIY 3o 1T 52 Timber
13|Which file is used for sharpening the blunt Square file Round file Triangular file Half round file  [Ueh &oTeT 3T & < Glcll 1 olof &l IR 3T EGIEREGH PregaTerr I 318 GedThRR T Fitting tools 4-7
teeth of a tenon saw? fore forg XY 1 39T fFar SArar g2
14|Name the part marked ‘X’ of the file. Edge Heel Tang Shoulder "X" 8 ST YT o AT FI ATH Td1S0- o HE & glesT Fitting tools 4-7
§
i
15[What is the name of the tool? Jenny caliper Inside caliper Outside caliper Firm joint caliper [2& 3SR T & T ATH §2 ECTETIEr ATARS FeldR SEY FollaX TH SN HelldX Marking tools 4-7
ggaP
H
H
16{What is the name of the angle marked ‘X’ Rake angle Point angle Clearance angle Inclination angle  [S=iT 3 "X" GaRT J&T2Id SHI0T T ATH I 0T q1Sc 0T TFera<d HIoT S hId 10T Chisels 4-7
of the chisel? FATE?
i
a
17|What is the use of firmer chisel? Paring and finishing | General chiseling | Making rectangular | Light chiseling and [teR ST sl &7 392197 &2 EERErEEED AT DATehi0T BRI | 3T H AR DG | h] H godhl Belleniol Carpenter - Tools 4-7
joints work holes in wood to clean sharp rfafAer & AT TAT AT FRaART T THTS
corner
18|Which type of half lap joint is used if one End-lap input Cross-lap joint Middle-lap joint | Comner-half lap joint |f& e T 37€T ofT Sitg AT feharr Ts-olg 3 FrH-olT S5 ALY-JT A3 FIAT-378 ol S5 Carpenter - 4-7
part of a job meets another part at some ST &, ST Sife T e 7797 FART o 31 Joints
distance from the ends? AFo gy & AT g?
19[{Which type of notch is used for making a ‘v’ notch Slant notch Square notch Straight notch |90 ° #13 31X 37eY | fehel g U IR & VA foRoT At FIFR AT e A Sheet metal 4-7
metal tray with 90° bend and an inside Y 1 ¢ ST & forw fhg g & worker
flange? AT &7 YT FHT ST &2
20|What is the purpose of hem folding in Helps for forming a | Helps for bending Prevents burrs Prevents the sheet |2fic Aca 1 & &H Bl I FaT FINHR [3e9 l FalTel & | e Aol 1 Tl A HIea & 916 GgY efie &t &7fa @ s Sheet metal 4-7
sheet metal work? square box sheet metal easily | forming after cutting from damage  [3R2T &? TETTH Az H TgrIh TR §oat A UehdlT & worker
21[Which defect in the timber is caused to Twisting Cupping Cracking Irregularity TIhaT & il TT &IV SHPT ATFd I A T TThall sifaaf@dar Timber 4-7
reduce its strength? FIATE?




22|What is the name of the hammer? Claw hammer Ball pein hammer | Cross pein hammer Straight pein s gdls T FATAH 67 Foll gieT EICRIGEDIE] g UieT gdisT Tee O g2fisr Carpenter - Tools 4-7
hammer
g
23|Which defect in timber is caused due to Knot Twisting Cracking Cupping eI TISAT=I9T & HROT ofhal & hisT AT S A el YT Timber 4-7
improper seasoning? &Y 3ceoT gIdT §72
24|What is the name of the formation of Hemp Full form thread  |Tapered male thread| Parallel female |ST&c e IBT NS H X' & T H EG ol BiH I35 RS AT U8 AR A IS Sheet metal 4-7
thread marked as ‘X’ in the galvanized thread AfEAT I3 & T AT FATE?
sheet pipe joint?
‘
i
25|Which type of notch is used for bending V' notch Slant notch Square notch Straight notch  |2fie & T&RT &1 ASA & Tohd T T V At TR A FINMFR AT rer At Notches 4-7
the edge of the sheet? AT T AT T ST &2
26|What is the purpose of cross cut cold Cutting keyways Cutting curved Squaring materials | Removing metal [shE Thc 3T Tl T FAT 35T £ HIa FIcat H TR ATTeIIT IcIT I Y BleAl T 21 3T Bcle § 91q Chisels 4-7
chisel? grooves at corners from large flat PR FT F frepTeteT
surface
27|Which type of notch is used to make a job ‘V' notch Slant notch Square notch Straight notch 90° Arsat ga T YhIR T &A1 G397 V T R A ISR AT T A Notches 4-7
with 90° bend? grarg?
28|Which type of curve cutting hand saw is Compass saw Key hole saw Coping saw Fret saw TN T AR hiedl & [o1T e HEITE 3R T gleT 3T ST 3T e 3RT Carpenter - Tools 4-7
used for internal cutting in wood? YR T Teh HTCIT ST ITRT T Hhr
ST g
29|What is the name of the stake used for Square stake Hatchet stake Blow-horn stake | Bevel-edge square |2 Rca 1 & [T 393197 gl=t aTet TAHPR TP e wes soll BleT Th SaT TSl TIFR Teoh Sheet metal - 4-7
sheet metal work? stake T T F T ATH §2 Tools
% !
30|What is the name of tool? Claw hammer Tack hammer Cross pein hammer Straight pein 3SR 7 F1 AT §2 Foll g2iisr g gater S dieT gAiar T 9 g2lisr Carpenter - Tools 4-7
hammer
i
31|Which type of chisel is used for separating Flat chisel Web chisel Cross cut chisel Diamond point |3+ 3feleT & aTg &1 371 1 31eTaT et TqYET Sl TR el ST e Sell ERT 9IS Sell Chisels 4-7
metals after chain drilling? chisel 8 fore TR 1 Selt o1 et fomam
EICIR
32|Which type of stake is used for riveting or Square stake Hatchet stake Blow horn stake  [Bevel edged square [f& YRR &I Teeh T 3T 10T AT FIMFHR Teh T wes Soll glet Teh 9T TS JINHR Th Sheet metal 4-7
seaming tapered cone shaped articles? stake & 3R & i@l s Rafeer ar @fFer
FA & T o ST &2
33|Which cause knot defect in timbers? Defective storage | Uneven shrinkage | Growth of branches | Improper seasoning [cIehaT & 31TS GIY ol FF3T HROT &2 aI9qU1 HUSROT AT s M@ A g Il TrotTeiaT Carpenter - 4-7

Timber




Name of the Trade - Electrician 1st Sem - NSQF - Module 3 - Wires, Joints - Soldering - U.G. Cables

electric current

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level Topic of Week No of
syllabus the Syllabus
1|What is the current carrying capacity of 32 13 Amp 16 Amp 26 Amp 39 Amp 32 UTFIIX 3¢S dhadl @I’ YRT dged &JHAT T 13 Amp 16 Amp 26 Amp 39 Amp C 2 Current 8-10
amp.rated cable, if it is protected by the gieft, IfE 58 goT: aR st 99 v & gRiara carrying
rewirable fuse? R ITaT 812 capacity
2|What is the possible range to measure the 0-44 0-42 0-38 0-36 SWG & dR & TR AT Sl O T &2 0-44 0-42 0-38 0-36 D 1 Wire size 8-10
size of the wire in a Standard Wire Gauge measurement
(SWG)?
3|What is the name of the wire joint? Aerial tap joint Knotted tap joint Duplex cross tap joint | Double cross tap joint |38 dR 15 3T 4T =716 &7 TRUS &9 515 ACSCT A | Sooidd 1T CT NS | 59l h1F 0T AT B 1 Wire joints 8-10
!
;
H
4|Which type of soldering flux is used for Rosin Zinc chloride Sal ammonia Hydrochloric acid ~ [dedeiiehd alig & TaIT fohd TR o TTe3R3 fuEC] STEAT FARTES Tl AT EISgIFallNeh 3 el D 2 Soldering 8-10
soldering galvanised iron? FIFH FT ST FHT ST 872
5|Which method of soldering is used for Dip soldering Soldering with a flame Soldering with Soldering with HATAT 3c9TesT 3R [efa1eT 1 &g it AT Aes kel 29 Aresiar SaTell & &Y HesRaT A & [FesRaTad s ary [ A 2 Soldering 8-10
quantity production and for tinning work? soldering iron soldering gun TTer &1 wveT foha SITaT 82 Aresiar ary Aresiar Tresiar
6|What is the name of the part marked as ‘X’ in Bedding Armouring Lead sheath Paper insulation |38 33T hael 3 'X' & ST HIT T ATH i3 AR EERIE FTS HelToleh A 1 UG cable - 11-12
the under ground (UG) cable? ERIEN Construction
§
H
7|What is the full form of “XLPE’ Cable? Cross Line Poly X'ess Line Phase Cross Linked Poly Excess Length Paper |XLPE' mq;tﬁm% Cross Line Poly | X'ess Line Phase | Cross Linked Poly Excess Length C 1 UG cable - 11-12
Ethylene Earthing Ethylene and Ebonite Ethylene Earthing Ethylene Paper and Ebonite Type
8|What is the purpose of ‘serving’ layer in Protect the cable from | Protect the cable from [Protect metallic sheath | Protect armouring  |{fR9Td Shael 7 |IdeT WX T T 3TN g2 FIT P AHT T | hdel DI JT1Aeh &F1l | HTicach had i AT T D 2 UG cable - 11-12
underground cable? moisture mechanical injury against corrosion  |from atmospheric LA EEIC) ERUTH O | agHsey feafa & Construction
condition SATAT
9|Which cable laying method is used in In ducts Racks in air Along buildings Directin ground  |3cUTe TIAT H Tohd YohR hl chalol [SSTeT ol s H &aT A 3+ I & T oY ST J B 2 UG cable 11-12
generating station? Fafer &1 g2er fovam ST 872 location faults
10{How many electrons are there in the valence 1 2 8 18 TS & GTHATU] o TS <5 # feohclel Felereral 81 1 2 8 18 A 1 UG cables - 11-12
shell of a copper atom? g2 laying
methods
11|{What is the effect of electric current on neon Heating effect Magnetic effect Chemical effect Gas ionization effect [1eT o9 & A6 g d TRT T FHTT &FAT FHgelldl 82 FHT 9T LI THTT T JHTT 3T ITIATHIOT D 2 Atomic 8-10
lamp? EEIC] structure
12|What is the unit of insulation resistance? Ohm Kilo ohm Milli ohm Mega ohm FrdTele SToRTY 3 SHlS o- 3R et e el 3ed I EHA D 1 Effects of 8-10




13|Which electrical device is the coarse excess Cartridge fuses Rewirable fuses Miniature Circuit High Rupturing et AT [degcl STHIUT T8 TRl TRT FifesT F Jef: dR el A | [AfaeaR afie sax | &15 Toarer atdar Insulators 8-10
current protection? Breaker (MCB) Capacity (HRC) Fuses |GR&ToT &7 L2l TSt

14|Which type of joint is used for extending the Scarfed joint Aerial tap joint Britannia “T” joint Western Union joint [RRRIGR ol & =Tefsh &l o1dTg SeTa & 1ohdl THTHS A TRU &7 S5 e T'Se | d%es gaaa s Current 8-10
length of conductor in over head lines? YR & S8 39T fohd ST 872 carrying

capacity

15|Which type of soldering flux is used for Tallow Ker-al-lite Zinc chloride Sal ammonia rosin FNFTTH =TT I TosT FA 8 ol TR ol H-3cl-e1SC SEATFARESS | ATel AT ATt Wire joints 8-10
soldering aluminium conductors? F Ol Tl T TAN9T fohaT STt 87

16|What is the effect on molten solder due to Tin content reduced | Lead content reduced | Prevent slug formation | Uneven flowing in |l § THTesY ! SR-aR [UEllel § &1 YHTT | o7 1 AT HA G | HIH 7 AT FA G | Tl bl ol A U | AT T 3THATT Soldering 8-10
repeated melting? joints CEGINY RGN RIGIE aarg CHECH

17|What will happen to PVC insulation in cable |Voltage drop increases Voltage drop Insulation resistance | Insulation resistance |J&e & PVC FdTeleh 1 &1 8191, TS HcATF | dlecst Oid d¢on | dlecst g9 T FraTerdh Jiare FraTersh Jiare soldering 8-10
carries excess current continuously for long decreases increases decreases YRT ol AT o Sl 8 ? Feam g
period?

18|Which method of cable laying is suitable for Racks in air Duct pipes Along buildings Directin ground  [&aeT TroTel 1 ahlet &Y Fafer wehiot a1t & EIGEED ECORIES] =T o AT @ AT A Voltage 8-10
congested areas? SQQIEH%? grading of

cables

19|What is the name of the part marked ‘X’ in Serving Bedding Armouring Lead sheath 39 fA9Td et 7 'X' F ST HIET T ATH fger sfgar AR EERIE] UG cable 11-12

UG cables? ERIEN laying
methods
§

20|What is the fault of U.G cable identified in the Ground fault Short circuit fault Open circuit fault Weak insulation fault |{${fF3Td sheel & 68 IR o a1 &l ATd TohdT Haw g a9y Ay Gell IRYY SIS | HHIAR FaTerah &y UG cable - 11-12
circuit? ST HhaT &2 Construction

21|Which part of the underground cable is Serving Bedding Armouring Lead sheath AT FaeT F HleT T AT UTATT had I afger sfsar AR EERIE UG cable - 11-12
protecting the metallic sheath against &ROT § ST 872 Construction
corrosion?

22|Why the soldering iron must be kept into a It prevents burns and To control the To save the time of | To save the operator [ETesRaT JRRE T 3ULNT o oA & HHA TS | TG oTolal UQ 3191 | IRl SSHT b1 | HoSRIT TishaT a1 | Fellerh I [degdl UG cables - 11-12
stand that not in use while soldering? fire excessive heat soldering process from electric shock |# F4T T@=IT ATfRT? I UehcT & [CEIECETC IS HHI S 8 ST ¥ T4 8 Construction

23|Which type of wire joint is found in the Aerial tap joint Plain tap joint Rat tail joint Married joint STeRIST ST 3 fohd TR o dRT & SN3 AIU S | URTS &J S @Y T A T AN ARE S Soldering 8-10
junction box? &2

24|What is the name of the joint? Married joint Scarfed joint Western union joint | Britannia straight joint |2 STS ol &7 AT g2 AN N3 THHS A e AT g | Toerferar gren s Wire joints 8-10

ELNtaze12




25|What is the use of Britannia ‘T" joint ? Extending the length | Inside and outside | Mechanical stress not | Tapping the service [fSerferar ‘T' s T &1 YT &2 ST 1 oIl h1 | AR AR aEd | =roreh R AR |TERIG oftget & Far Wire joints 8-10
of the lines wiring installation | required on conductor |  connection from G AT T 1| TATT HTaRTF AT | 3T & gl
overhead lines
26|Which type of soldering method is used for Dip soldering Soldering with a flame Soldering with Soldering with a  [@ATEET 3R RAIRT I & TIT foha Fehr 3t 37 Aresiar ST &% W | HesRaT a1 & A1y | Hies R 3R & Wire joints 8-10
servicing and repairing work? soldering gun soldering iron HAresRer fafer yier & s 82 dresiier dresfier qry Hresiar
27|What is the use of dipsoldering method? Soft soldering Piping and cable Soldering miniature Soldering sensitive |39 AlesRaT AT &1 39T FAT 62 A AresRar aISTer AR el [dI A BIE Al | Hagerelel fegd Soldering 8-10
soldering work components on PCB | electric components AresRar T |[dr Gresier TN T BresRaT
28{Name the part marked ‘X’ of belted U.G cable. Jute filling Armouring Lead sheath Paper insulation  [dees H[A9Td et 7 'X' § ST HIST &I ATH qede BT STARET EERIE HTTS HelToleh Soldering 8-10
arsy|
§
H
29|Which insulating material is used as hot Polyamine hardener | Cast resin compound | Bituminous compound |  Epoxy castresin  [aleT &T aTeidh UGyl H{H3Td el 3 313 AN[aTeh | Uiell 3HT g5k | T e A6 | (O [HeTd ANareh | TaIeRT hiee 8T UG cable - 11-12
pouring compound for making joints in under compound &I g 3Tl ST 82 It Construction
ground cable?
30|What is the purpose of bedding insulation of | Protect the cable from | Protect the cable from | Protect armouring Protect the metallic  |3[TFTd el 31 STS9T T AT 353 &7 Shelcl T ITTIh &1 |Shelcl T AT UG 31 AR H | elfcae had UG cable 11-12
U.G. cable? mechanical injury moisture and gases from atmospheric sheath against LERICH LERICH argmzrﬁaﬁa’r &ROT & dTeT joints
condition corrosion H FAET
31|Which test is conducted to locate the faults in Loop test External growler test | Break down voltage | Insulation resistance |#f#19Td et & [ohd TR o alY ol AT TohaT o[ T T AMFoN CEC | Seh ST3e1 Alecol S | FraTeleh TTaRTY S¥T UG cable - 11-12
U.G. cables? test test ST GehdT &7 Insulating
materils
32|What does the number 1.40 represent if a Area of cross section Radius of one Diameter of all Diameter of each aﬁwgumﬁ7/1.4o | s fham Srar I IEA HIC T T dTeleh I (3T | T ATelohl T <O | Tcdoh dTeleh ol UG cable - 11-12
stranded conductor is designated as 7/1.40? conductor conductor conductor &, ar 1.40 a7 cRITaT 872 E ) e Fault location
33|What is the value of electrical conductivity of 61 mho/m 56 mho/m 35 mho/m 28 mho/m U@I?Fﬁﬁ?m TcTeh ST ATeAehlT T FIT AT &7 61 mho/m 56 mho/m 35 mho/m 28 mho/m Conductors - 8-10
aluminium conductor? Size
34|What is the rating factor of cable provided 1.11 1.23 0.81 0.707 heTel ShT 3T8eh 37T &RT F&T & ferw amT 1.11 1.23 0.81 0.707 Conductors 8-10
with coarse excess current protection? T PRSP FATE?
35|What is the size of neutral conductor Same size of phase Half size of phase 1/4 size of phase 1/3 size of phase  |3{fA9Td shelel H SeRANeT TeTeh T 3R hol ol dTeTeh o THTST | Uhol dTeleh © 3T (Wl TToleh ol Ueh 2| ol dTcleh I Teh Current 8-10
compared to phase conductor in U.G cable? conductor conductor conductor conductor Wﬁgm:ﬁr IGRIES carrying
capacity
36|What is the name of the tool? Cutting plier Wire stripper Crimping tool Side cutting plier |38 3R T a7 ATH §2 HICIT ToR IR e FoRTPeT ¢ TISE hicdT ol UG cable - 11-12
Construction
g
37|Which type of joint is used in over head lines Scarfed joint Britannia ‘T” joint Western union joint | Britannia straight joint |3=d deadT &g ARG &S # hle &1 13 THIhS SIS ol T s | 3 ea gaaas | Saea e Jis Crimping 8-10

for high tensile strength?

39Aer T ST 82




38|What is the reading of the micrometer? 5.05 mm 5.00 mm 4.55 mm 4.05 mm WWWW%’? 5.05 mm 5.00 mm 4,55 mm 4.05 mm Wire joints 8-10
7
39|Which method of soldering is used for Dip soldering Soldering with flame Soldering with Soldering with aTgeAT hT ATST o PN & Hes el Al hief dY 20 AresiaT STl s &Y HIesRAT 3 & | FesRIT a1 & Ty Wire size 8-10
repairing the vehicle body? soldering iron soldering gun ey geT Y ST 82 Tresiar ary Aresiar < measurement
40|What is the advantage of stranded conductor Cost is less More flexible Less voltage drop More insulation I g U HTeleh o1 BT dTeleh T Jolell 7 & ol FH AT JsRF adien |5 dleest a1d JTere FaTeh Soldering 8-10
over solid conductor? resistance 7 gfaRTer
41|What is the current capacity of the 16 Amp. 11A 13A 15A 18 A 16 A FeicT &1 GIRT 41T FAT S, A6 Ig Hah 1A 13A 15A 18 A Conductors 8-10
Cable, if it is protected by coarse excess HIANEFT URT GI&TT GaRT TXFard 8?2
current protection?
42|What is the unit for Quantity of electricity? Mho Coulomb Volt /second Ampere/second  |TSrsTelY ST HTHT & [o1T Sohls FAT &2 = EGIG drec/AHs TPRR/A%s Wires - 8-10
Current
carrying
capacity
43|What is the name of the soldering method? Dip soldering Soldering iron Soldering gun Soldering with flame [@TeaRaT faf&Y o1 77 AT §2 29 Aresiar AesRIT RN ATes AT 3T SaTel & |1y Simple 8-10
Aresiar electrical
circuits
44|What formula is used to find Electro Motive EMF = Potential EMF = Potential EMF = Potential EMF = Potential  |fdcgd aTeeh &l AT ¥l & Thd G AT EMF = Potential | EMF = Potential | EMF = Potential | EMF = Potential Soldering - 8-10
Force (EMF)? difference — voltage difference + voltage difference + voltage difference + 2 x 3T fRaT ST §72 difference — difference + difference + difference + 2 x methods
drop drop drop/2 voltage drop voltage drop voltage drop voltage drop/2 voltage drop
45|What is the current rating factor for close 0.81 0.92 1.23 15 el Y I T ATARFT URT FI&T o faw amr 0.81 0.92 1.23 1.5 Simple 8-10
excess current protection of cable? T FRE FATE? electrical
circuits
46|What is the disadvantage of solid conductor Less rigidity Less flexibility Low melting point Low mechanical |31 dTeleh ol A § UdTeleh ol Jolell H T glieT FH HORT A I S Ielellch FH qiAH AfFd Current 8-10
compared to stranded conductor? strength ? carrying
capacity of
conductors
47|What is the name of the soldering method? Dip soldering Soldering with blow Soldering with Temperature AresRaT [afer 1 Far a7 §2 29 Aresiar SIS A |WesRAT I & A | dgAw diad Conductors 8-10
lamp soldering gun controlled soldering AreaRar Fresiar Aresiar
!
48|What is the cause for cold solder defect in Excessive heating Insufficient heating | Incorrect use of solder [High wattage soldering |[&esReT & 33 T GV ol HRUT FAT 572 ITAF FFT 3T A | TYes< ol ITedd TAeT| 3<9 dlc AlesRaT Soldering - 8-10
soldering? iron ko) methods
49|What happens to the voltmeter if it is Low reading No deflection Meter burns out Overshoot deflection [T 81dT &, IS alecHIe Y 31 HT g s FH TSR s faaeret oTgr e el SR R [aaeret Soldering 8-10
connected as an ammeter? Se?
50|Which conductors are used for distribution Insulated conductors Insulated solid Bare conductors Two core cable TATAR SIS S [T PIeT-AT Shegare ST Segalcs Fesacy | Fogelcs dlols & FesFcd 2 PR FHdol Types of 8-10
lines? conductors grarg? FosFcl electric supply




Name of the Trade - Electrician 1st Sem - NSQF - Module 4 - Basic Electrical Practice

# Question OPT A OPTB OPT C OPT D Question OPT A OPTB OPTC OPT D Ans | Level | Topic of syllabus Week No of
the Syllabus
1[How many electrons are there in the third 8 13 18 29 T & ORATT] & AR a7 H fohclal 8 13 18 29 C 1 Atomic structure 8-10
cell of the copper atom? FolFeTeT Bl 872
2|Which is the semiconductor material? Eureka Ebonite Manganin Germanium AT 9T Hie AT &2 YA TR HeaMiotat EEicpe D 2 Semi conductors 8-10
3|What is the indication of neon polarity Both electrodes will | Only one electrode | Both electrodes will | One electrode will [T ¢l Feheieh T AC 3Tfcl Srerd Sl SAIFCIS STl & | Shaol Ueh SoIFeIS oToldl | Glell Soldels dHchd & | U SoFcIS STl 3R | A 2 Types of electric 8-10
indicator used for checking A.C. supply? glow will glow be flickering glow and another |G Tehd FAT 1T &2 g GET THhT supply
will be flickering
4]Calculate the electrical energy in unit 0.5 unit 1.0 unit 1.5 unit 2.5 unit 500W & ofd &1 5 T STellel W faegd 0.5 unit 1.0 unit 1.5 unit 2.5 unit D 2 Parallel circuit 13-15
consumed by 500W lamp for 5 hours. St 1 @ud & FfAeH Aafae problem
5|What is the value of hot resistance of a 31.25 ohm 62.50 ohm 312.50 ohm 625.00 ohm 100W/250V & I3 Fed & I3 TIeRTeT 31.25 ohm 62.50 ohm 312.50 ohm 625.00 ohm D 2 | Laws of resistance 13-15
bulb rated as 100W/250V? T HTeT T gIAM?
6|Which law states that in closed electric Ohm's law Laws of resistance | Kirchhoff's first law | Kirchhoff's second [enleT &T f?pm FEdT &, 1 96 19egd 3MNEH F e gfaer & e TR & Tgell [9# | fFas dr @ = a# | D 1 Krichhoff's law 13-15
circuit, the applied voltage is equal to the law g & ST 91T Ao, dlecst uTd
sum of the voltage drops? F 9T F TSR BT 82
7|Calculate the total power of the circuit of 50 W 100 W 200 W 400 W 200W/240V & 2T oid 240V 3Tqfd & 50 W 100 W 200 W 400 W B 2 Parallel circuit 13-15
two lamps rated as 200W/240V are AN 7 J3g UE; Fol Al w1 HIfS
connected in series across 240V supply?
8[What is the formula for the equivalent Rr=R;+R,+R; 1 01 1 1 R - 1 fe, T 9o’ Ry, R, & Ry TATR Rr=R; +R, + R, 1 1 1 1 R+ = 1 D 1 Parallel circuit 13-15
resistance (Ry) of the three resistors Ry, R, Ry=—+—+—| Ry=————|"T"7 1 1 qRger & 3 &1, af Feor wfekier A Rr=—+—+—| Ry=——"F— L 1 1
& Rjare connected in parallel circuit? R R Ry Ri+Rp+R3 Rl R2 T R3 | R R2 Ry Ri+Ry+R3 Rl "Rz "R3
9|What is the reading of ohmmeter across Indicate zero reading | Indicate infinite Total resistance | Value of sum of the [3TEHHIC I IISATH Yol §UR, TTAUY | YA QAT W Hehd | 3eTd UISATH W Hbd | TR T Fol T R, 3R R, UfcRTel & B 1 Series circuit 13-15
opened ‘R,’ resistor? resistance value of the circuit resistance of R; 9T &7 gIRM? HIoT YT T ATT
and R; only
_ : R R,
L
RESISTOR LJ
Ra
10|What is the change of resistance value of Increases to two Decreases to four | Decrease to half of | No change in value |TR&T TTeer & ITaRIer & 4T IRdTsT ST e §¢ S9N IR A1 oI HH & TEN Teh A &1 ST | STaTey & i gReciet B 2 | Laws of resistance 13-15
the conductor as its diameter is doubled? times times the value of resistance A1, IS 38 A1 1 AT fear SR et g
SIg?
11|What is the name of the resistor? Metal film resistor | Wire wound resistor Carbon — film Carbon composition [9faRTer &1 &1 AT §2 &1q fhed giaqe ar 99 g uyfae FIe thed gfaTer FIe [AAT gfare B 1 Resistor - Types 13-15

@ O\
O——)

Lz

resistor

resistor




12|Calculate the resistance value of the 23x10°Q+5% 26x10°Q+10% | 32x10°Q+10% | 37x10°Q+5% |TT%e fafer & g 9faies 1 &A1 23x10°Q+5% 26 x10°Q + 10% 32x10° Q=+ 10% 37x10°Q+5% Resistors - 13-15
resistor by colour coding method. ERIEN Measurement -
colour coding
— i —
BLUE 8LVER §
13|Why the ohmmeter is graduated with non- | Voltage is directly | Current is inversely Resistance is Voltage is directly [3Nea#TEX I 3RWIT HA H FIT THTTT Alecot, UTaRTeT & T, IfRIeT & YTaRTE, &RT & 99T Jlecs!, URT & 9T & Ohm meter 13-15
linear scale? proportional to proportional to inversely proportional to the |fRaT ST TehT §2 AU & SYHAT e YHAG I FAFIA &
resistance resistance proportional to the square of the
square of current current
1mmn 40 0Q 0
1k 100
e o ]
o< OHMS OHMS :
14|Calculate the value of unknown resistance 120 90 6Q 30 FICESNA TsioT T HJoled ol ITEAT H 120 90 60 30 Wheat stone bridge| 13 - 15
‘Rpc’ in the Wheatstone bridge network, If 37T IFeRIY ‘R’ T HATA AT hiford,
Pas = 5000, Qgc = 3000, Sy = 15Qat ST Pyg = 5000, Qe = 300Q, Spp =
balanced condition. 15Q &
1)1
15|Which material is having negative Mica Eureka Copper Manganin TrE Jard 7 MOTcHAS dTIHTS 0TI RIEED YA GICH Heamforet Temperature - 13-15
temperature co-efficient property? TOTEIAT 872 effect
16|What electrical quantities are related in Current, resistance |Current, voltage and |Current, voltage and | Voltage, resistance |3gdH & ﬁ-ram Q graed faega uiar | R, gfcRre o erfed IR, Alocs 3R R, Alecol 3R ITaRIYT | alecol, TTaRer 31 &Y Ohm's law 13-15
Ohm’s law? and power resistivity resistance and current density [T T §?2 gfeRIgear gaTdr
17|Calculate the value of resistance ‘R;’ in the 2Q 4Q 60Q 80 THATAR IRIYT F R, T AleT AT hlTord 20 40 60 80 Parallel circuit 13-15
parallel circuit.
18|What is the effect of the parallel circuit with | Current will remain |Whole circuit will not | No current will flow Voltage drop Teh QTET Bl W JATaR IRIYT & URT GAT Sehl QI | QU IRIY 1 AT S| 39 AT H URT 6] | Gl AT A dlecof 91 Parallel circuit 13-15
one branch opened? same function in that branch increase in the T JATT ? el ¢ ST
opened branch
19(What is the unit of resistivity? ohm/cm ohm / cm? ohm - metre ohm / metre TfCRYEThT T T SahTs §72 ohm/cm ohm / cm? ohm - metre ohm / metre Laws of resistance 13-15
20|Which type of resistor is used for Arc Varistors Sensistors Thermistors Light dependent  [Gfehe SIXT 7 31Teh QTFT FI&TT & oIl INTX AREX uffeex wrge f3use YaeeX Resistor - Types 13-15
quenching protection in circuit breakers? resistor (LDR)  |fF& YehR o faRrer a1 393ier foham
ST R?
21[Calculate the value of resistance by colour | 22 x 10°+ 10% 23 x 10* £ 10% 25 x 10%+ 5% 36 x 10°£5% |91 %e 1At o carT GiaRyer &1 #1et 22 x 10% £ 10% 23 x 10° + 10% 25 x 10% + 5% 36 x 10° £ 5% Resistor - 13- 15
coding method. ERIEN Measurement

ELN140731




22|Calculate the unknown resistance “Rpc” in 40 60 80 120Q dITEN TSt S A oled hl 3raAT H 40 60 80 120Q Wheat stone bridge 13-15
the Wheatstone bridge circuit, if P,5=400 3T GIRYET Ry’ T AT AT hifor,
ohms, Qgc=200 ohms and Sp=120hms at ST P = 400Q, Qgc = 200Q, Spp =
balanced condition. 1208
§
H
23|What is the reading of the voltmeter ‘vV'? ov 6V 9V 18V JlecHe V' HI TSI adisy| oV 6V 9V 118V Series circuit 13-15
24|Which is the application of series circuit? | Voltmeter connection| Lighting circuits in Shunt resistor in | Multiplier resistor of [Soft TR2r T T IUAT &2 alecHIER Tt R H GhreiT aRTY | A A 2e 9fckieT  |dlecHie ol AecITalliX Series circuit 13-15
home ammeter a voltmeter gfarer
25|What is the effect on opened resistor in No effect in opened | Full circuit current | Total supply voltage |  No voltage will  [0f RT3 Tl g TATaTe o2 &R Gl SR A RS FoI1d | GoI TR A A Q0 [ Gl TIeRIY & aledl 3R | ol FTokied o grait 3K Series circuit 13-15
series circuit? resistor will flow in opened | will appear across | appear across the |J31a &7 &Y qRaer &Y ST Fol YT Ao Q@ | FIg Ao oAe G@am
resistor the opened resistor opened resistor
26|Calculate the resistance value in R 4 Ohm 6 Ohm 8 Ohm 12 Ohm R, TTeRTe & ITRTE T Al 8T 4 Ohm 6 Ohm 8 Ohm 12 Ohm Parallel circuit 13-15
resistor.
12A Rp=6Q
v i
3
27|What is the effect of the circuit, if ‘ab’ Circuit resistance will | Same current will | Supply voltage will | Total circuit current [aRw2r & &FT werra grem, Ife; AB &Y IROY GfaRTeT e gl | T @t 7 AT Tedeh @l A 3T | ol IRUY GRT Y Short in parallel 13-15
points are shorted? be zero flow in all branches | exist in each branch | is equal to each  |[FgIRITER feaT S| SIReT YRT SN Aot W ITET 8RT F TAT gt circuit
branch circuit
— =~ current
§
: i
28|What is the name of the resistor if its Varistors Sensistors Thermistors Light Dependent  [ITe ATIAT # gig o AT SHAT TTRTET INTX A yfFATx wse f3use Y/eeX Temperature - 13- 15
resistance value increase with increase in Resistor (LDR)  |#TeT Saar &, af 9faRer &1 A1 a7 &2 effect
temperature?
29|What is the formula for Quantity of Current x Time Voltage x Current [Current x Resistance Voltage x Taega AT 1 A FAT 67 R x T7T Frecat x GRT RT x FTaRTer Frecet x IfeRIY Simple electrical 8-10
electricity (Q)? Resistance circuit
30|What is the unit of conductance? Mho Ohm Ohm-m Ohm/m ATeTehclT T SIS FAT &7 Mho Ohm Ohm-m Ohm/m Simple electrical 8-10

circuit




31|Which one defines the change in Temperature effect |Laws of temperature Temperature Temperature co- |3Nga fa 3t A€EIE (° C) A ITRIT H GIEGICEEIC] dIHAT & T AT s ATIHATT 0T Temperature - 13-15
resistance in Ohm(Q) per degree constant efficient IR &t dleT a1 aReiT FRar &2 effect
centigrade (°C)?
32|Which type of meter is used to test the Moving iron ammeter |Moving coil voltmeter Moving iron Dynamo meter type [SeXT 3T §adT Siidel & 0T [ohd TR &l T ilg 3T T FBell dlecHI Tl oilg dlecHIe STEAHATHICT ThR hT Types of electric 8-10
polarity of battery? voltmeter wattmeter FHrex ger foRam STar §72 qreAY supply
33|What is the voltage drop in resistor ‘R,’ in 5 Volt 10 Volt 15 Volt 20 Volt Aot a9y & gfalyes R, # alecsl IId 5 Volt 10 Volt 15 Volt 20 Volt Series circuit 13-15
the series circuit? EICERIEIY
1000 R, 2000
va
L«:»—«:»— 3
Ry 30000 R, 40000 5
34|Which is the application of series circuit? Fuse in circuit  |Voltmeter connection| Electrical lamp in Shunt resistor in ~ |30f 9921 &7 F1 3TT 2 IRTYT 7 TS JrecHIe TaTolel o A [aegd oa 37T A Qe TfaRTes Series circuit 13-15
homes ammeter
35|Which method is used for measuring 1 Substitution method |Kelvin bridge method| Wheat stone bridge Voltmeter and |1 3eA & 100K 3HTeH de AT & Hiel gfaeamd= fafer FiedsT Torel TATer Tl Toiot fafer recHTer AR TR Wheat stone bridge 13-15
Ohm to 100K Ohm range resistance? method ammeter method &Y faf®r T 3uer fovam e &7 afer
36|What is the S.I unit of specific resistance? Ohm/cm Ohm/metre? Ohm-metre Micro ohm/cm? | Tafrse ufaRier 6 S| sehrs a1 872 3NeEARH /R 3EA-HAIX HSH HEAAH? Laws of resistance 13-15
37|What is the value of resistance of the 330 £ 5% Ohm 3300 + 10% Ohm | 33000 + 5% Ohm |330000 + 10% Ohm [FfoRTeF & TTRIET &7 F4T AT 572 330 + 5% Ohm 3300 £ 10% Ohm 33000 + 5% Ohm 330000 + 10% Ohm Resistors - 13-15
resistor? Measurement
ORANGE ORANGE RED SLVER
38|What is the purpose of the shunt resistor | To limit the currentin | To increase the To adjust the zero To prevent the |30l &R & e HieX IRIT H AT ARTY H URT T WA | eI TR o AT T | Heherh 1 Y FEATd | TRTY H 3TARFT &R Ohm meter 13-15
‘R,’ used in series type Ohm meter circuit? the circuit value of meter position of the excess current in  |[9faRIYT R, T T 39197 £7 Cxoi Ergi FI gHEIAT BT T Jehell
resistance pointer the circuit
§
39|Which electrical quantity affects the heat Voltage Square of the current|  Square of the Current passed  |olsT HT g AT dTeleh 3 AT dlecsl JRT T a7 OTaRYEr T qaT 309 garfed 9RT Temperature - 13-15
generated in a conductor? resistance through it 3ceoT BT T i 672 effect
40|What is the change in value of resistance No change Decreases 2 times | Increases 2 times | Decreases 4 times [@Teleh & YTaRIET & HAA H T IR F1s gRade gl AAANBAG AT g | & YT AR @I AT & | R A1 H &1 AT & Laws of resistance 13-15

of the conductor, if its cross section area is
doubled?

BT &, 319N SHHT AT TEA FHIT &1l

GrLATEY ST 872




41|Calculate the voltage drop across the 48V 72V 80V 100 V IRy F 9iaRTes R, W dlecst Urd &l 48V 72V 80V 100 V Combination circuit 13-15
resistor ‘R,’ in the circuit. IOTAT RIS
Ri=EQ Ry=002 Ry=500
Ry=8001
L L- E
20V é
42|What is the resistance of Light Dependent Increases Decreases Remains same Becomes infinity [eTae BU3c IRATeR & UfaRier & g1, Seam eI HHTT Jgal 37T &1 STem Resistors - Types 13-15
Resistor (LDR), if the intensity of light is e gahrer r draar Fer &
increased?
43[Which formula is used to calculate the Voltage x time Current x voltage | Current x resistance | Voltage x resistance |31 9RTY H ATeFc & I0TAT il T diecat X GHAA YRT x dlecal YR x FTRTET Frecet x IRy DC circuits 13-15
power of a DC circuit? FATHILE?
44][Calculate the hot resistance of 200W / 31250 62.5Q 3125Q 625 Q 200W / 250V Y3 oY & a1eT Hieirer sh 31.25Q 625Q 31250 625 Q Oohm's law 13-15
250V rated lamp. IOTAT |
45|What is the value of resistance in an open Zero Low High Infinity e Gl e A STk &7 A a1 82 L= FH s 3eld Circuits 13-15
circuit?
46|Which resistor the lowest current flows in a 50 O 220 Q 450 Q 560 Q HATAR IR H 3‘513.5(?(2, 220Q, 50 Q 220 Q 450 Q 560 Q Parallel circuits 13-15
parallel circuit having the values of 450Q U1 560Q E=Rl T
50 Q, 220 Q, 450 Q and 560 Q connected TR 3 T e URT T61d gE?
with supply?
47|What is the specific resistance value of 1.72 Ohm/cm? 1.72 Micro ohm | 1.72 Micro ohm/ecm? | 1.72 Micro ohm/m [aT3 TTeleh T fafRIse gfaRier #1eT #1872 1.72 Ohm/cm® 1.72 Micro ohm 1.72 Micro ohm/cm?® 1.72 Micro ohm/m Laws of resistance 13-15
copper conductor?
48|Which is inversely proportional to the Length Resistivity Temperature Area of cross S gieRTeeRdr GISCIGH HJUEA HIC T 8Dl Laws of resistance 13-15

resistance of a conductor?

section

TeTeh o TN & G ThAT T T
garg?




Name of the Trade - Electrician 1st Sem - NSQF - Module 5 - Magnetism and Capacitors

10MFD 1MFD  z0MFD

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level Topic of Week No of the
syllabus Syllabus
1{Calculate the total capacitance value in 0.16 pF 6 uF 30 uF 70 uF a2 &t ol FLTRAT T 07T 0.16 pF 6 UF 30 uF 70 uF B 2 Grouping of 16 - 17
the circuit. CAIcD) capacitors
300F 10uF 30pF
{1 I {1
‘I ‘l
Al 1=
2|What is the unit of capacitance? Mho Henry Farad Coulomb TenRar Y 5T FAT 82 Mho Henry Farad Coulomb C 1 Capacitors 16 - 17
3|What is the capacitance value of a 0.014 F 0.025 F 0.14F 0.25F T GUTRF FT &TRAT AT FT 14T, 0.014 F 0.025 F 0.14F 0.25F A 2 Capacitors 16 - 17
capacitor that requires 0.5 coulomb to 7fg 35 dtec & faIw 0.5 FHelre 3maer
charge to 35 volt? FI 3TILTHAT &I?
4[How the value of capacitance can be Increasing the plate Increasing the Increasing the Using high dielectric [T&TRAT & #TT T H& e T T CAIC &19thel &1 SGIY | Celel & FTAUe &l dela | Teldl & ALY gl dela | 3od Wifdggd @adis | C 3 Capacitors 16 - 17
decreased? area resistance of the plates| distance between the constant material  |[HhaT &7 Tere T 3TN FIh
plates
5|Which is the diamagnetic substance? Air Steel Water Platinum RIGFEHIT I&Td HisT A1 57 ag FEqTT STel ColfeaTH C 2 Magnets 16 - 17
materials
6|Which factor affects the polarity of the Length of the coil Direction of current Strength of current Strength of the el A1 HRE [degd Pah FSell &l olFaTg RT T fgam RT T ATF TFAhTY &1 T AT B 2 | Electro magnet 16 - 17
electromagnet? magnetic field AT & AT T 872
7|What is the unit of Magneto Motive Force Ampere / M2 Ampere - M Ampere - turns Ampere / turns AT ATEe Tl B FAT SIS 67 TR/ TFRR-AY TFRR-C TFERR /T [ 2 Magnets terms 16 - 17
(MMF)?
8|What is the total inductance if 3 inductors Lr=L;xL,x Ly Lr=L,+L,+ Lg 1 01 1 1 e 3 IRehed (Ly, L, 3R L) 5@ & Lr=LixLyx Lg Lr=Ly+L,+ L 1 01 1 1 B 2 Self induced 16 - 17
. N L =— 4 — 4+ — — ¢ - = = = = -
(L1, L, and L) are connected in series? TTLLTL T L+L,+L, SIS UE ol Fol Yehed T §7? L, L + L + L TS LaL L emf
9|What is the unit of permeance? Ampere - turns Weber/Ampere turns | Ampere turns/Weber | Weber/Square metre [oRTAIH ST SIS FAT? TFRR-&o AR/TFRR-T TFIIR-C- /AR AR B 1 Magnet terms 16 - 17
10{Which rule is applied to find the direction Cork screw rule Right hand palm rule |Flemings left hand rule| Flemings right hand El'ﬁ?nﬁiﬁrg?ﬂ H FeehT &1 &l ik T [AAH CITgel &Y T gUell Al | Fel (9T T STAT GIA T | Fel AT T Gl 1Y T B 1 Principle and 16 - 17
of magnetic fields in a solenoid coil? rule e @ietet & forw sler &1 fare e o s GRC) laws
R ST 872
11|Calculate the total value of capacitance 4ufd 10ufd 15ufd 40ufd Aol aRaY 1 et FETRAT & 7011 4pfd 10ufd 15ufd 40ufd D 2 Grouping of 16 - 17
of series capacitor circuit. e capacitors




12|What precaution to be taken before All the capacitors must | Each capacitors Total capacitors value |Break down voltage of [§&eT & faffiee dlecal Icar TUTRAT | T HURAX Tk &1 Tcdsh AT dlecol | el HATAeR &1 Hiel Tcdeh TUTRT Hl Grouping of 16 - 17
connecting the different voltage rating be same manufacturer | voltage drop must be | must be less than the | each capacitor must [T SiSsT & Ugel FIT ATTETAT ST AT F O TRT | ST SR AT T & | TeRT & AT AT | Jha3 decst TATT capacitors
capacitors in series? less than its voltage lowest value of be same ST anfge? FA glaAT A1fgT T FHA gl A1y HEIEIRY

rating capacitor

13|Which material is the paramagnetic Cleat wiring Copper Bismuth Graphite FleT AT TGI H] e TaTd 572 Follc AIRIT GIEH [Tty APRIBT Magnets - 16 - 17
substance? materials

14|What is the part marked as ‘X’ in B.H Coercivity Saturation point Magnetizing force Residual magnetism [B-H @% & X' GaRT 3ifehct #1137 T ATH Frefaradr Hqed fog LFaHIT ol 3AAY Freehcd B.H curve 16 - 17
curve? ERIENY

15|What is the similar term in magnetic Reluctivity Permeance Reluctance Permeability g d IRTY & "HTelehd” & ToIT Rerereiacr RAIT Reweq RiFITSTrEr Magnet - Terms 16 - 17
circuit for “conductance” in electrical g Tfhe H AT eUeg FAT &2
circuit?

16|What is the unit of Reluctance? Weber / metre? Weber / metre Ampere tumns / Weber | Ampere turns / metre? |Relerc® i SehTs T 52 Je/Ae FeR/AI TFRR-ce /A TFRR-e= S/ AT Magnet - Terms 16 - 17

17|Which is the correct expression of C=VQ Ife [Iegd 3maer'Q’ § 3R dleest 'V° 0 C=VQ Capacitors 16 - 17
capacitance ‘C’ if the electric charge is C = EVL C= v C=+vVQ &, Ay guRdar 'C’ & gy AR iFd c = V C= v C=+4VQ
‘Q’ and the voltage is ‘V'? Q FATE? Q

18[How can you increase the pulling Increase the field | Reduce the currentin [Reduce the number of |  Increase the B-H |39 Ueh fdegd go=sh 1 Wiret &t BEEIRIECIEMIY el H HIC HHA FL | FSell A AT I TCAT | Yerd o &1-Ud dsh Electro magnet 16 - 17
strength of an electromagnet? intensity the coil turns in the coil curve of the material |dTehd S IgT el &7 FH FL CrY

19|Which defines the flux density is always Hysteresis Magnetic intensity Magnetic induction | Residual magnetism |l Helcd gHRIT eehI SoT e I eI TrhT ST 3EAY P B.H curve 16 - 17
lagging behind the magnetising force? IS Tgar &, fraent aRenfa aar §2

20|What is the effect on surrounding metal Hysteresis Skin effect Eddy current Dielectric stress [T 819 3 Y@ 315 3T T €1 e EEIEEIC] Ha YRT ERECUGREIC] Electro magnet 16 - 17
placed in a magnetic field? TR T JHTT IST 872

21[In which device the air capacitors are TV tuner Oscillator Loudspeaker Radio receiver g FUTRA T 3TN Fohd 3THIT H A TR alelsh eafa-IAeares a9 I AR Capacitors 16 - 17
used? fRT STaT 872

22|What will happen, if the polarized No effect on the Explode due to Currentis reduced in | Value of capacitance [afg Ydidd Selaciarsice AUTRA TURT TR FI5 THIT AT | T IHT & PRUT | IRIAHURTHFA G | TUTRAT T ATA SerT Capacitors - 16 - 17
electrolytic capacitor is reversely capacitor excessive heat the circuit will be increased  |faTIT ®9 & S[STE 3118, ol 4T grem? rairs ST STae defects
connected?

23|Which is the diamagnetic substance? Wood Nickel Platinum Manganese RIGFIHIT 9eTd Hief AT 57 oThaT [EET Tl fesTe FHaretrar Magnets - 16 - 17

materials
24|What is the S.I unit of Flux density? Tesla Weber Weber/metre Ampere-turns FoIFH Helcd T S| SHIS FIT 72 [l I FeR/HTR TFRR-Te Magnetism - 16 - 17

Terms




25|What indicates the shape of a BH curve Reluctance of the Field intensity of the |Magnetic properties of | Pulling power of the [aerel &T B-H g (REERAT o[9) & TeTd 1 Rereed EEBEIGERIEG] TeTY T eI TN T AT B.H curve 16 - 17
(Hysteresis loop) of material? material substance the material magnetic material |37 FAT GRITAT 72 ICREGIY raer

26|Which electrical quantity is directly Voltage Current Frequency Resistance il AT [aegd AT WY $HeR 9T & drecet aRT Jmgfea gfeRrer Counter emf 16 - 17
proportional to the eddy current? HATT T Bl 872

27|Which is the cause for changing the Length Flux density Field intensity Magneto motive force |[RIFATSTAET & aRATId glet &1 T TS ol elcd BEGIEGH I A6 dcl Magnets - 16-17
permeability? FROT §? Terms

28|Which type of capacitor is used for space Plastic film type Ceramic disc type | Electrolytic-Aluminium | Electrolytic-Tantalum | JehR &1 TaRT 37aReT CATREC Tthed JehlX RAS 3T ThR EREIGIEI[oc SoFeIBeh-ccotd Capacitor - 16 - 17
electronics? type type SolFCifelard o ol 39T foRaT SITar Teg AT THR Type

g7

29|What is the effect of the electrolytic It will not function It will burst at once It will become leaky | It will function normally |Selergienaicen TR T THTT FAT BT ERETT Ig Ush aR A B AT g olieh g1 SIuam g AT &9 J FRY Capacitor - 16 - 17
capacitor, if open circuit fault occurs? gIaT &, 319N Gor IR9Y 3y gielr &2 Defects

30(What will be the change in value of Becomes zero Remains same Decreases Increases gfe, @eTRT & colel ﬁ & A g STt [ g1 SIam THAT TgaT S gIaT e Capacitors 16 - 17
capacitance if the distance of the plates g, a aTRar & A 7 a7 IRade
are decreased in the capacitor? grem?

31|Which property of magnet is illustrated? Directive property Induction property Saturation property | Poles existing property [g5aeh & @lsT € [32aT g2lfs 715 872 [ERIERCERGH OROT TR Hefed 1AL ¢ Hio[g e Magnets - 16 - 17

Property
S
= 5
s :
32|Which is a paramagnetic substance? Air Steel Glass Water T TeTd et AT 52 ag FEaTd Fd STl Magnetic - 16 - 17
materials

33|Which method of magnetization is used Induction method Single touch method | Double touch method | Divided touch method $1 fra At &1 3Tarer o9RoT AT Thd T AT ey T I anfora Taet A Magnets - 16 - 17
to make commercial purpose permanent IOTSTF 3237 o T Fraish Application
magnets? A1 & T fFar srar g2

34|(What is the effect of inductance if the Increases Decreases Becomes zero Remains same Ife gATal & el 1 gl Sed 8, at Erail Brii [ g1 e HHATA g Counter emf 16 - 17
distance between the turns increases? OROT T JHTT FIT §7

35|What is the function of dielectric insulator |Increases the strength | Prevents any current | Protects from short Helps to hold the  [&emR= & TRifaegcl Fraereh I A | FETRCAT oh clTehel ST [Tolet o &l fohalt ol URT | Tolet & g T U= q | HUTRA 3 A FY o Capacitor 16 - 17
in capacitor? of capacitance flow between plates circuit between the | charge in capacitor for |FaT &2 3 AT Y AehT & ERIGI AT doh 3G H AGG,

plates long period AT

36|Which factor is determining the value of Area of the plates Shape of the plates | Material of the plates |Thickness of the plates |[T&TRT & TR I ATA [T SR & ToleT & &Tthel Tolel & TR EEREIREE] Tl S AlCTS Capacitor 16 - 17
capacitance in capacitor? ganT feiRa g wr &2

37|Which type of capacitors are used in RF Tantalum Monolithic Electrolytic Metalized poly 3TRUT IHeA iehe A ohdl TR SeaH AATATIR Sl T dleldTaTgels] Capactor - 16 - 17
coupling circuit? propylene TR T 39T fohaT SATAT §2 Type




Name of the Trade - Electrician 1st sem - NSQF - Module 6 - AC circuits

(P,) in an AC circuit?

FATE?

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans | Level | Topic of syllabus Week No of
the Syllabus
1|What is the unit of susceptance? Mho Ohm Henry Farad T T SHIS FAT§? Mho Ohm Henry Farad A 1 | RLC parallel circuit 18- 19
2|What is the resistance of the inductive coil 48 Q 42.50Q 38.4Q 26.6Q SREcd Foell T TR FT @19, it 480 42.5Q 38.4Q 26.6Q B 3 RL series circuit 18-19
takes 5A current across 240V, 50Hz 240V WX ':}A RT o, 50 s‘éﬁ mﬁ 0.8
supply at 0.8 power factor? IER I
3|How the resonance frequency (f,) can be |Increasing the inductance |Reducing the capacitance Increasing the Increasing the value of |A.C S0 AT 311G 3 (f,) 1 REAHAAA GG | TURATAA A FAT | FUIRAT AT ARG | IR AT H i B 3 RLC series circuit 18-19
increased in A.C series circuit? value value capacitance value resistance FY FGTIT ST GehaT &2
4|What is the formula to find 3 phase P= VI _ . ~ 3 ol RUTFed 91aR (Pg) Y fedehleld & P= VI _ ] P <3V I Cost C 1 3 phase power 20-21
Reactive power (Pg) if the line voltage is Pr= 3VLILCOSG Pr = \/ngILS'ne Pr= JEVLILCOSB T = ga g, afe o areest V3R Pr = 3VL'LCOSG Pr= ‘EVLlLS'ne =3 LL measurement
V" and line current is ‘1.’? s el §?
5|What is the main cause for below 0.5 Due to fluctuation of True power due to Reactive power due to Reactive power due to |3 &elT JUTTell # 2Ifehd [0 0.5 lecol & 3AR-UEId & | RIS R & dROT | IRFRFARF | IWHGRITARF | C 2 Power factor - 20-21
lagging power factor in 3 phase system? voltage resistive load more inductive load more capacitive load  |TREIHT ¥ 11T gleT HTH HIOT FAT §7? FHROT 3T e FRor gfafrareier | FRor afafrander Improvement
AfFT e
6|What is the current in neutral conductor in No current will flow The algebraic sum of The algebraic sum of Lesser than the lowest  [FeR FISId FeH & 3 Fell 3 foid FIS YRT AT SgalT 3 FHAI3N H URTHT | haol 2 FHell3T A URT | FHoll3l 7 & fhal 7 D 2 Neutral in 3 phase 20-21
3 phase unbalanced load in star current in 3 phases current in 2 phases only | current in any one of the |HR # 3T dTeleh H YRT F4T &7 st Irer T STl TTeT Y A URT Y
connected system? phases qarrn:ﬁr HH
7|Calculate the apparent power in KVA of 3 15.2 KVA 11.5 KVA 9.2 KVA 5.3 KVA 3 hell, 415V, 50 Hz, R RATea A 15.2 KVA 11.5 KVA 9.2 KVA 5.3 KVA B 3 3 phase power 20-21
phase 415V, 50 Hz, star system, if the line AT 7 MY AfFT @fwﬁﬁﬁ,. measurement
current (1) is 16A at 0.8 power factor. e TSt 4T (1) 16A § 0.8 T (0T
q—{'_
8|What will be the readings of two watt W, & W, both are positive | W, is Positive and W, is |W, is equal to W, but with Zero W, is Positive 3 Sl TSoTell AU H &t dle #Arel (W, & W, IRW, @l [W, GellcA® g 3IRW, | Wy, W, F R g, | W, Y3 UllcA® & C 2 3 phase power 20-21
meters (W1& W5) in 3 phase power reading negative reading opposite signs reading, and W, is W,) &1 qfFer = geft, afe arar thaex YeATcHS ITSATh FOTcHS UIeTTh ¢ |oifched AU Tohcdi &b | 3R W, HOTlcA® measurement
measurement, if the power factor is zero? negative reading LI E? ary 1A &
9|What is the maximum value of voltage for 240V 415V 339.5V 376.8V 240 diee IRUATH & [olV dlecot BT 240V 415V 339.5V 376.8V C 2 AC terms 18-19
240 volt RMS? JfUFdH AT FAT§?
10{What is the condition for resonance in X, > Xe X, < Xe X, = Xe X, > V2 Xe RLC Aot aRYY 7 37116 & [T Fa1 X > Xe X < Xe X = Xe X, > V2 Xc C 2 Series resonance 18 -19
RLC series circuit? (Inductive reactance = Rufa &2 (R ufdera = X, aRd
‘X', Capacitive reactance = ‘X¢’) gfaera = X'
11|What is the formula for Reactive Power P, =VI P, =2 VI P, =Vl cos 6 P, =VIsin 6 AC afhe # Rufaea g (Pg) 1§ P, =VI P, =2 VI P, =Vl cos 6 P, =Vlsin6 D 1 RLC series circuit 18 -19




12|Calculate the impedance of the circuit R = 69 Q 65 Q 13Q 12 Q R =5Q, X,;=36Qand Xc =24 Q g ar 69 Q 65 Q 13Q 12Q RLC series circuit 18 -19
5Q, X,=36Q and X. =24 Q. gfaer  gfdeTer T o S|
R X ?:
; — |
8
i
i
13|What is the phase displacement in a 90° 120° 180° 270° Tehel B AC IRUY H el Tehl=ll 90° 120° 180° 270° 3 phase 20-21
single phase AC circuit? grarg? fundamental
14|What is the relation between the line TR TAod [T & drs aleei(V,) Star & delta 20-21
voltage (V) and phase voltage (V,) in star V|_ = \/EVP VL =3Vp V. =Vp /43 Vi =Vp /3 TJAT B dlecal(Vp) H TFeY §d1SU] VL = \/EVP Vi =3Vp VL =Vp /43 Vi =Vp /3 connection
connected system?
15|Calculate the line current of the 3 phase 85A 52A 45A 3.4A 3000 aﬁﬂaf@ﬁ IR, 0.8 ATFT EIMIED 85A 52A 45A 34A Star & delta 20-21
415V 50 H; supply for the balanced load of W TR H G 3 el 415V 50 Hz connection
3000 watt at 0.8 power factor is connected TYTFE; ST GRT T I0TAT Y |
in star.
16|What is the power factor in a 3 phase 0 1 0.5 0.8 T el QAT 9= H & dre A A 0 1 0.5 0.8 3 phase power 20-21
power measurement of two wattmeters g {fSer @ oX arferd aores Fr §72 measurement
showing equal readings?
17|Calculate the power factor of coil having 0.8 0.6 0.5 0.3 240 9ok ATl TSNl & ATl UM Hr 0.8 0.6 0.5 0.3 RLC series circuit 18 -19
resistance of 24Q, draws the current of IOTAT IS, JAT SAT €RT, 240V/ 50Hz
5A, at 240V/ 50Hz AC supply. AC 3Mqfd o ol -
18|What is the formula to calculate the ) 5 5 2 ~ — 5 IRTerHr aRTY o YTAETET (Z) Y 0T oo — : : RLC series circuit 18-19
impedance (Z) of the R.L.C series circuit, if Z=R7+y XL+ X Z=\R+(X -X¢) Z=R+(XL"-X¢) Z=R%+(Xc-X.)? e T FAFAT &, ATG R gfaard Z=RZ+ XL 2+ X2 Z=YRTHX L Xe) Z=yR7+(XL"-Xc) Z=yR%+(Xc=X,)
the inductive reactance (X,) is less than (%) e ufaera (Xc) & w7 &2
capacitive rectance (Xc)?
19|Calculate the power factor of R.L.C circuit 0.5 0.6 0.7 0.8 FeRTE (R) = 15Q, TROTHT ieend (X) = 0.5 0.6 0.7 0.8 RLC series circuit 18 -19
having resistance (R) = 15, resultant 20Q # 240V / 50Hz AC 3T & 33
reactance (X) = 20Q connected across R.L.C qRaey & erfefet [ Tieh &t IroTar
240V /50Hz AC supply? F?
20|Calculate the value admittance (Y) of the 3.33 Mho 0.33 Mho 0.033 Mho 0.003 Mho 240volts / 50Hz AC 3-1Tq;ﬁ3-ﬁT 8 Amp 3.33 Mho 0.33 Mho 0.033 Mho 0.003 Mho RLC parallel circuit 18-19
RLC parallel circuit connected across RT 918 aﬁ J3RLC FAAR gfde s
240volts/50Hz AC supply and 8 Amp. AT TSTAEH (Y) Y 07T B | TR
Current is passed through it ? ATEH W e urd fRaT SATar 872
21|What is the formula to calculate the line Tohdl &hell RC AR IRYY H g RC parallel circuit 18 -19
I =1z -1 = _152 2 I =1z -1 = 2 2
current (I,) of this single phase R - C L=RC I =Ig +1c I =Ir"+ Ic I, =yIr? +1c? ETRT(1,) 3T ITOTAT St T G - L-RC I =lIg +lc I =Ir"+ Ic I, =4/Ir? +1c?
parallel circuit?
r e
R c
g
i
22|How the low power factor (P.F) can be By connecting resistors in | By connecting capacitors | By connecting inductors | By connecting capacitors [T IR 3 &3 iferd J[0Te (P.F) &t gfaRTel & Aol 7 FTRAT ol A0 H WRehcdl I AN & | TUTRAT A TATTAR Power factor 18-19
improved in AC circuits? series in series in series in parallel FHY g T ST GhaT &2 FIECT IECTY s IECT




23|What is the formula to calculate the three P=3V,I_Sino P =3V, I CosO P=./3V, | Sind _ e el Aish AT (P) T 0T et P=3V_I_Sine P =3V, I Cosb P=.3V, I Sin6| p- 3 phase power 20-21
phase active power (P) if the line voltage BV P= \/?TV L I Cos® & v gaFaT §, IS anga areest (V) BV P= ﬁv L I Cos® measurement
(VD) and line current is I, and phase angle 3T omseT 4T (1) & 3R FHorr o '0 B2
is ‘0’7
24|What is the relation between the line L =1lp ,=31p L =V3lp I, =1p N3 3ol @ 3 faeeH 7 st e (1) AR I =1Ip L.=31p IL=slp I =lp N3 Star & delta 20-21
current (1) and phase current (lp) in delta BT FE (Ip) & ST FIT HEET &2 connection
connected system?
25|What is the purpose of phase sequence | To control the speed of 3 | To protect motor against | To indicate the incorrect | To ensure the correct  |&ell AIehH HICI &I 3027 FATL? 3TUT AR A | ME Fihe el & | 3 TOT o ITeld @ROT | 3 =0T YOH & Fel 3 phase 20-21
meter? phase motor short circuit fault phase sequence of 3 phase sequence of 3 1 AT w8 & fov | fEers Aey Hr @ & | sgma g we TOT 35 T fundamental
phase phase system IGIY & fow gaRad s & fow
26|Calculate the apparent power of a star 12.45 KVA 57.50 KVA 3.320 KVA 7.188 KVA Th &R A g% 3 el AR T JTHTEY 12.45 KVA 57.50 KVA 3.320 KVA 7.188 KVA 3 phase power 20-21
connected 3 phase load, if it is connected QAT T ITUTAT Y, IR g 0.8 ATl measurement
across 3 phase 415volt/50Hz supply at 0.8 I[UTh UX 3 Shell 415volt / 50Hz mﬁﬁ
p.f and the phase current is 10 Amps. JI3Te IR BT URT10 A B
27|What is the P.F if one of the wattmeters 0.5 Zero Unity Below 0.5 3 el ATl H1Y H 2 eI e & 7 0.5 Zero Unity Below 0.5 3 phase power 20-21
reading is zero and the other reads total T FfE T Y IaFih g R g measurement
power in 2 wattmeter method of 3 phase Gud I3 &, ar Afed 0T F4T 572
power measurement?
28|Which electrical term is defined as the Resistance Impedance Admittance Susceptance T FATATR GRYY # 4R o Fof fay gfeRTe giceTer wsHcH qEH AC fundamental 18-19
total opposition to current in AC parallel & &9 7 fre [Aegd ereg &l aRea
circuit? R ST 87
29|Which AC circuit contains the phase Pure resistive circuit Resistance and Resistance and Resistance, inductance [fh& AC IRTY & aleest (V) iR e (1) | Y& TRl TRy JToRIY UF WRehed gfeRTey va ek gTaRTE, IRehcd TG AC parallel circuit 18 -19
relation between voltage (V) and current inductance circuit capacitance circuit and capacitance circuit |& ST ST el T BT &7 gfger gRger TR gRger
n?
, T
30|In a 3 phase system, if the active power is 1 KVAR 2 KVAR 3 KVAR 4 KVAR 3 Sll JUTTell H, IS AfhT ATFT 4 kw § 1 KVAR 2 KVAR 3 KVAR 4 KVAR AC RL series circuit 18 -19
4 kw and the apparent power is 5 KVA, 3R 3ot T 5 KVA §, ar
calculate the reactive power? gfatsrareiier arfera r arorer
FY?
31[In which condition resonance will occur in | Inductive reactance (X,) | Inductive reactance (X,) | Inductive reactance (X,) | Inductive reactance (X,) |3R-Td-&Y Soff aR9y & fovg —ATT A TR gfaend (X)) | R aiaard (X)) | SR ufaed (X)) | SR gfaara (X,) 3 phase power 18 -19
R-L-C series circuit? is zero is equal to capacitive | is greater than capacitive | is less than capacitive  |3fe=TG gIamT? qeIE TR gfaErd (Xo) | e ufaerd (X)) | e afaera (Xo) measurement
reactance (X¢) reactance (Xc) reactance (X¢) F Y T HRFHE AFAE
32[How will you obtain positive reading in the By interchanging the By disconnecting the By reversing the By reversing the pressure |3 &vell &l dTCHIe fATe # dTcHeT & 3T FRT & TSI | &RT F5oll 1 eI A | FeY H ga1d el & | HX A ga1q Series resonance 18 -19
wattmeter reads negative reading during 3- |  connections of input | connection of current coil | connection of pressure coil and current coil | FUTIcHS TS S I 3T llcHS AT R | AEATTFRA R | TS dgoled | IR Ry &
phase two wattmeter method? terminals in meter coil in meter connection in meter  |ITEATH HE UTCd HLar? FISTA Seolet T
33|What is the form factor (K;) for sinusoidal 1.00 1.11 2.22 4.44 SIThI THT & Tl ia therex (Kf) F7aT 1.00 1.11 2.22 4.44 3 phase power 20-21

AC?

g7

measurement




34|What is the reciprocal of inductance in AC Reactance Admittance Conductance Susceptance T TATCR IRIYT H Yehcd I EIGEIG] wSHEcH ATelhdl qroeH AC - terms 18 -19
parallel circuit? IREIRE FaT &2

35|What relationship is illustrated in between | Current and voltage are [Current and voltage are in | Current lags behind the | Current leads ahead of |&TRT Td alecol o HET el AT TFawe 4RT U dlecs FH | URT U dleest shell H | ORI, dlecsi S [ ORI, dlecst & MY RLC series circuit 18 -19
the current and voltage? “in phase” out of phase voltage the voltage geifar I &2 FATHE ERES wTg EAE

0
- B

36|Calculate the total power by two wattmeter W, x 2 W, only W, - W, W, + W, Y areHIET (W, & W,) Tafer garT g W, x 2 FHaed W, W, - W, W, + W, RLC series circuit 18 -19
(W, & W,) method, if one of the wattmeter 1T T IT0TAT Y, ITe Teh ACHET
(W,) reading is taken after reversing. (W,) 3T 3eteat & a1 off STl 8|

37[In which 3 phase system, the artificial 3 wire star connected 4 wire star connected 3 wire delta connected 4 wire delta connected |&lsT T 3 el YUTN &, ol dlocol Y 3TRER AT | 4 TR ER TAST | 3dR Secl GANSId | 4 IR Secl GAaid 3 phase power 20-21
neutral is required to measure the phase system system system system A & folT HTAA 3T dr T oA e oA {eea measurement
voltage? TR 8l §7

38|What is the line voltage in 3 phase system 380 Volt 400 Volt 415 Volt 440 Volt 3 ol [AECH H ITe, %ol alecl 240V &, 380 Volt 400 Volt 415 Volt 440 Volt Neutral in 3 phase 20-21
if the phase voltage is 240V? Y 1S alec AT geM?

i i . ? -
39 :/;/:tlgrh(fé);Tula is used to calculate Form  Effective value Kf _ Avera'ge value - Effective value (= Ave-.rage value B e (Ky) EFTH\EIW?. Effectiveralue _ Average value _ Effective value Average value Sctgr:rfaeggcl)ts 20-21
! f = Average value Effective value Maximum value Maximum value f ~Averagevalue | ' Effectivevalue " Maximum value | K¢ =y —rro oo

40|Which formula is used to calculate the 2 2 P _ - P > |RLC 8@ |fhe & Tiaemer (z) Fr 52 ~ AC - terms 18 -19

impedance (z) of a RLC series circuit? Z=R?+(x, ~x)*| Z=yR?+(x ~x,) Z=yR + (= xc) Z=R*+(x, ~x) TOTEAT XY 3 FTT T GT 7 39T Z=R% +(x_ ~x. ) Z=\R%+(x ~xc) [Z=R +(x, ~x.)| z= R2 +(x, ~x
T STAT &7

41|What is the power factor if one of the 0 0.5 Unity Less than 0.5 3 thof QIfebct A9 T & dleaiex Tt & 0 0.5 Unity Less than 0.5 RLC series circuit 18 -19
wattmeter gives negative reading in two e T areHIET FUTcHS TS &l ¢,
wattmeter method of 3 phase power ar uraR therex T 2
measurement?

42|What is the phase displacement between 90° 120° 180° 360° 3 Shell THT IRIY H ek [ohclelT 81T 90° 120° 180° 360° 3 phase power 20-21
phases in a 3 phase circuit? g7 measurement

43|Which condition is called as resonance X, > Xc X > X, X, = Xc R < X, e Fegfa &1 31e]=T1G RLC |fehe Fal XL > Xc Xe > X, X, = Xc R <X, 3 phase 20-21
RLC circuit? ST §? fundamental

44|Which quantity is rotating at a constant Scalar quantity Vector quantity Phasor quantity Algebraic quantity 8RR T[oR ATTAET H Fohcet GR&ATOT Tholk TIRATIT e IRATOT HET GRATOT 3T TSk TRATOT Series resonance 18-19

angular velocity?

ot g 672




